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'ENGLISH VERSION

SECTION - 1
Establishment of right business at right time is key to 20
* success. Kxplain
OR

- (a) Paresh company thinks two project for development. 15

In each project it requires investment of Rs. 30,00,000.

Estimated cash inflow from each project are as follows :

Year - Project - 1 " Project - 2
1 6,00,000  15,00,000
2 7,00000 - 16,00,000
3 700000 800,000
4 6,00,000 7.00,000

Cost of capital is 10%
From the above information compute the following for both project.
(1) Net present value

(1) Profitability Index

(b) Explain features of PERT. ' 5

Explain the matters included in project cost. 20
OR

(r':i)___ Diséusé the characteristic of | Marke’t. -. ' 10

(b) Write meaning and important of social cost benefit. 10

analysis.
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(a) Following informations are available for on business ..
unit
Sales (Rs) Profit (Rs)
1,00,000 10,000
) 1,20,000 14,000

Give the"answers from the above infor'mation.

| (1 PV Ratio or Proflt Volume Ratio
(2) Fixed expenses _
(3 Amount of profit if sales Rs. 90,000 and 40,000
4) Amount of sale to earn ploﬁt Rs. 20, 000
B) Break Even point.

(b) Give the objects of capital: in_Vestment.

_ o or o

(a) Write difference-between Net Income Approach and
Net Operating Income Approach.

(b) Describe the procedure of selection of location.

SECTION - 11
(@) Explain the instruments for sources of finance for
project.

(b Explain importance of slack time in PERT chart.
OR
What is selection of location? Explain in detail the

 deciding factors which affect selection of location.
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5 (a) Following are the B/S of M/s. A and B's firm as on 15
1-1-2014 and 31-12-2014.
Liabilities 1-1-14 31-12-14 Assets 1-1-14 | 31-12-14
Creditors 40,000 44,000 Cash Balance} 10,000 7,000
Mrs A's Debtors 30,000 50,000
Toan 25,000 Stock 35,000 | 25,000
Bank Loan 40,000 50,000 . Machinery 80,000 [ = 55,000
| - land 40,000 | 50,000
Capital | 125000 | 158000 |  Building 35,000 | 60,000
230,000 | 2,47,000 2,30,000 | 2,47,000
Additional Information :
¢)) Duri_ng-. the year one machine costing Rs. 90,000
~on which accumulated depreciation of Rs. 3,000
sold for Rs. 5,000. ' '
_ (2) Balance of provision for depréciation.on'machinery
on 1-1-14 Rs. 25,000 and on 31-12-14 Rs. 40,000.
(3) Net profit du.ring. the year was Rs. 45,000 prepare
cash flow statement from above information.
() Explain the meaning of cash flow statement. 5
5 (a) Write a note on method of measuring Risk. 10
® (1) If profit volume Ratio = 40%. 10

Break even point 80% of Sale
Fixed expenses 2,40,000

Find out amount of sale
(2) Selling at Break-even point - 2,00,000
Profit Vol_ﬂme_ Ratio = 40%

Find out fixed expenses.




